G20¢-220¢
H3A D34ILOTN 3¢
CINIINYINNAY 'H
VOIND
VINNQIO3N

eoluf) esop/Rey

ONVYZOT OLMNSYE VIHYI3ANYD VIMYIN O

7

IS
1719
4

—qnéuw.oow.vvw LS V9G'00L'ELS LS'¥9G00L'ELS G8'981°198'L6$ 92'269'1L5C8 65°967'688 VS $ \ ojseo |9p |ejol
1£.°6.0'G57$ LL'6,0'G6V$ LL'620'G61$ 62'85)'82Z'7L-$ 00'8EZ'eTL VLS r\ elalosa)
9'879'3L1'0€S €6'9./L'V65 VS £6'9LL'V65'v$ GGGZY'EL.L'VES G5'068'66L°LLS 00'G/S'ELS'2LS seadljqnd selqQ ap ugiddiIg
€8'1£9292€L$ Sl'Zly'ezl'o% GLTly'zel'os 00'770'G88'6L$ = 00'¥70'588'6L3 ojudlwejuniy ‘H
p8eve'sles z/.662'837'2$ 2.'GBT'88Y TS 65'6€9'£9.'C$ = 6S'6£9'29/'2$ |ediojunyy eouspISaid

(h-€)=9 5 4 (2+1)=¢ 4 L
opiossfegng opebeg| opebuanag opedyIpO | seuojoendwy opeqoidy oyiasuon
sosaibg
= st e WP

£Z02Z 3P OzJeL ap L§ |2 013U ap | |3p

BAJeNSIUILIPY UOlDROUISEID
sosaib3 ap ojsandnsaid |ap 0131943[3 |ap oonljeuy OpeisT
194 ‘sadajoqir ap oididiunpy

>ade10jif




